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Note: 1. Answer any FIVE questions.

a)

b)

a)

b)

2. Each question carries 14 marks and may have a, b as sub questions.

Explain in detail about Raman'’s significant work on spectroscopy? 7M  CO1

Choose the appropriate prepositions.

Don’t spend too much time ___ phone. (in, on, at)

Varun leaves Delhi tonight. (to, at, for)

You have to abide...rules of the company. (for, by, from)

They live ___ the same roof. (by, across, under) 7M CO1
I shall doit____pleasure. (in, about, with)

Three brothers shared the property ____ themselves.

(among, between, with)

G. He has not yet recovered ___ his illness. (with, in, from)
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Distinguish between Extensive Reading and Intensive Reading

: J 7M CO1
with suitable examples.

Rewrite the following passage after making necessary

improvements.

My father is the one who cures diseases related to heart. Daily he

interacts with his patients. He interacts with the parents of his

patients. Sometimes he interacts with the friends of his patients.

Two days ago, my father was examining a patient. Exactly at the

same time, the patient had heart attack. My father immediately 7M  CO1
informed his family members. The family members of the patient

came running to the hospital. The family members of the patient

requested my father to do surgery immediately. My father agreed

and my father immediately shifted the patient to the operation

theatre. The operation was success and because of the operation

the patient was safe.

Read the passage and answer the questions that followed
Vilfredo Pareto (1848-1923) was an Italian economist who, in
1906, observed that twenty percent of

the Italian people owned eighty percent of their country’s
accumulated wealth. Over time and through application in a
variety of environments, this analytic has come to be called
Pareto’s Principle, the 18-20 Rule. Pareto’s rule states that a small
number of causes is responsible for a large percentage of effect, in
a ratio about 20:80. In a management context, 20% of a person'’s
effort generates 80% of the person’s

results. The corollary to this is that 20% of one’s results absorb
80% of one’s resources or efforts. The challenge to an effective
professional is to distinguish the right 20% from the trivial many.
To maximize personal productivity, one must realize that 80% of

7M  CO2
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b)

b)

b)
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one’s time is spent on many trivia]é'
activities. You must analyze and identify those activities that
produce the most value to your company. Then you must focus on
the vital few (20%). What do you do with those that are left over?
You can either delegate them or stop doing them, depending on

their relative importance.

1Q: What is the gist of the passage?

2Q: According to Vilfredo, the cause of poverty in a country is due
o I

3Q: ‘Focus on the vital few’ in the passage means..

4Q: The real intelligence of a professional lies in...

5Q: The passage is about..

Correct the following sentences.

The number of books in the library are on literature.

My thanks goes to all my friends.

The rich enjoys all privileges.

One of the MP is coming to the town today.

Every student and every teacher work for the institu tion.
None of the rulers in India know what ruling is.

Neither Nayana nor her roommates has interest to
celebrate the New Year Day.
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Write a letter of appointment to be sent to the person whom you
have selected for the position of Sales Manager in your company.
Create necessary details.
Add appropriate suffixes/prefixes and use them in your own
sentences.

1. appropriate

2. calculate

3. uniform

4. logical

5. eradicate

Explain in detail the evolution of blue jeans?
Correct the following sentences.

1. They have left for Warangal yesterday.

2. Radha as well as her father visit Varanasi every year.
3. Please write your name with ink.

4. Kamala, having finished the exam hall, left the hall.

5. 1know him more better than you.

Write an essay on ‘Health Education

Give suitable suggestions to contain the spread of COVID-19.

Read the following passage and rewrite by précising the
length of the passage.

Language learning is a continuous process. Assessment is not an
activity distinct from learning. Since learning is facilitated through
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b)

8 a)
b)

group discussions, pair discussions and individually, assessment
also operates at the individual level, in peers and groups. This will
help the learners to compare their strengths and weaknesses and
make modifications in their learning. We propose Continuous and
Comprehensive Assessment at the levels of language learning. CCE
is an attempt to shift from remote learning to constructing
knowledge and applying it as when required. CCE is an ongoing
process and is an integral part of the lesson. At every point of
classroom learning, we will have to assess what the child has
learned for which the same activities that are used for
teaching/learning are used. The questions in the examination
paper shall not simply be based on information given in the
textbooks but shall create slots for the learner to use language in a
meaningful way applying what he/she has learnt. So mugging up
by the student will not be of any use to him/her.

What does Lens Technology produce? Who are its biggest

customers? LR
What are the processes that glass is put through in the factory? 7M  CO5
Write a report on the events conducted on your college day or M CO5

college fest. Assume the activities conducted.
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